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— 3, BIER(3. 3. 30) W w, FNX(3. 3. 8) AUE wos FHEE .
—'azﬁzmw*u HOIE SR P R RE B IF7E LS B X R & B C RN
Z WIORE —E PRORE +E 1dG) | =T o + &
854 Jxm%¥ﬁ%ﬂ7@

Join =84 —&.u (3.3.32)
H13 (3. 3. 3) 1%
g, =wldow, =wlz =z"w, =z"0"'z
e /MR 22T N
Jum=¢8,—wlz=d"d —z"® 'z (3.3.33)
. BEET

WHE R A 5 ) gk gk thas 8], e X A2k P as ] B AP E d .38 d IR
] I 452 & d FE1%%5 8] L B el Adi i XAl P (3. 3. 3D FRax . sk, 7T UE X
P=AA"A)"A" (3.3.34)



JJ $35 BRBEE

Xt A9 1) K A S (8] B RO R T AT R R d AR IR R

d=Pd=A(A"A) 'A"d (3.3.35)
(RS VD A -
Pr=I1—P=I—AA"A)'A" (3.3.36)
EEHT da BRMmEEd 5d 7EA W2 RS a2z mEE S A 1525 [\ 15
EL )i B TR /N DR 25 ) L B

e=d—d=P'd (3.3.37)
3.3.3 /b FHIEIEMG LA VR

R T E WS LS B PR BT, B LS At — A A EHE R (AR S8, Rk —
A H BHE R
x(n) = iwo_kx(n — k) +vn)
B AR I FEAE BT RIS FIL0, N — 1A BUE 5 i B 2L
xX=Aw,+ v
A i x =d fiit A EHS RS ow, , Sv=c,, TN
d=Aw,+e, (3.3.38)
X e, S Rl i A B B IE N 0 B E M Jr 22N ol . W LLAMTAR B w, () LS
i1t w, BPERT . B SE,w, R IE I 5 R
A"Aw, =A"d (3.3.39)
(3. 3. 38 RAK(3.3.39),1%
A"Aw, =A"d =A"(Aw, +e,)
Kk w, B9 LS fliitH
w,=w, + (A"A) 'Ae, (3.3.40)
A 2 (3. 3. 40) ANHESSGIE LS Al 109 4~ Ge 11 T (1) L (2) L, PE BT (3) (D IIEI 256 2 &)
IR U o
(D LSAlt w, BT Mm . ELv, J=w,.
(2) w, I ZEHER C,. = (A"A) '=5i0 ',
(3) w, Jed/NIr 22 T Am At 4%
(D) TR e, I MRS W, 2 &N 22 oA T B b 8- T ATk, [\ el
S K UAAGTT .
B — T 4E g S ae 0 LS SR I a8 B A B XY, HS FIR 4514 4k 99 I8 i 4 09 4 90 -7
R .
Rw,=r
Fb# LS 9 1E W) 5 2
Ddw,=z

H T HETTE g LS B AR S RETE 80, N —1], 4 ’:%‘D il z/:%z,IEm'Ui
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126 MRESHFADIREHR) |

BEEN

d'w, =z’
3.3. 1 e T LS IR MY 4 P FLab 3805 vk A N T 4 i BCHE HE I R A8 B 2L 4 Bk
XiF o7 1) R PR AN TR)  m] LASIE B CRR AR 20 R0  #25ff FH A AR DG 7 e Ab 30 5, @ "3 JE Toeplitz

PE,S2BR E@ =R, Mz =F. X B, R, A, HST L0, N — 179 B 000 5 63
o GOF r, () BRIE AR 1453 2 1 1K G 9 1 AR 56 P 910480 i 14 19 R 56 66 I A0 A 6
[ o DRI AR 6 0 5 A SR 0 ) LS 0 U 0 A 49 0 D 8 A A PR R AR B0 T i
(B, FETEE RS 5 A 0 A 305 2 491 iy 2 7 1 A A 00 L B L I i L 2 I
SEMEE R Toeplitz P, 24 VLI B 78 K 11 BRI 55 L 24 N —> ool 2 15 5l 2 T
Ttk g G @ R, 2 —=r ., o LS T 4 44 ks T — 5

TE VLI B A B R N /N L LS R [ i SR A B8 07 2, T RE R 45 S W L 5
U] 330 P X — 2 o7 56 456 45 305 1 37 SR A T2 i LS BOASE B O ESR L RUAS I M DG T s (i
@ 'HLA Toeplitz ¥ 5 AR 67 B AR 15 R 2 0 1 3 5 0 A0 L 75 1355 0 BUAR A6 - o B Oy 22
D7 A B A A B T G T 1 35 0L 9 i R P O B 07 k. LS i A B ) B AR S
HAE 6 mat—EiTie.

3.3.4  Be/b IR Rk B

5 S5 D0 20 P Y0 2 0 0 0 g ) — AN R — A, LS B SO 0 S I T ] A R LS
W R 5] o AR 2 WL B BEALAS 5 19— B {2 (0) s 2 (D) s oo s (N— D} 3K MR LS
T B o EAR R i e U e P T 2R 8, W) LS B % ) — KR, AT LA 4 FRCHE B 0 R,
X ELAS AN B 5 Sk 2R A T U A
AR S AR S ER ) )
d=[z" (0,2 (1), 2" (N—D]"
I T30 7 0, 45 30 X6F 300 B2 ) 7 f) T Ay

(0
‘2: f*-(l)
lz " (N—1
i 0 0 0 0 ]
x " (0) 0 0 0
v .ujl
x (D) x (0) 0 0
. . . . . Wy
T M—-1) =2 M—2) 2" (M—3) x " (0)
. . . . WM
lx"(N—2) =z (N —3) 2 (N—M) " (n—M—1)]

BN 5 I Hy
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0 0 0 0
x " (0) 0 0 0
x (D x " (0) 0 0
A= : : : . :
2T M—=1) =2 M—2 2" M—3) x " (0)
" (N—2) x (N—3) 2" (N—M) " (n—M—1)]

9T ST LS U8 RO AR B LA nT LR SO R R S e
A" =[x(—1.x(0),x (1), x(N—2)]

0 x(0) x(1) -+ x(N—3) x(n—2)

0 0 x(0) o xn—4) x(n—3)

0 0 0 oo an—M) x(n—M—1)
f3.3.1 LSRN, Z—AMMAZFTHINILANAKERL 2(0)=1{1,2,3,3,4,5}, A LS 7
ER-AI A TRM T B A R, AT E k.,
fift . *PIASTOM AR, 7] de F A vk B A TR AR 5 AR

1 [0
2 1 0
3 ~ 2 1 W
d = d = =Aw
3 3 2| |w,
4 3 3
15| 4 3]
1FRHRELEE S
o 0]
1 O
2 1
A =
3 2
3 3
4 3]
LS ey Fam % H A
[ 1.48
w=(A"A)"'A"d = }
|— 0. 3036
B b, st 4 2 vh B 2 e TRRAE & = A
[0 0] [0 ]
1 0 1.4821
A 2 1| |w; 2.6607
d = =Aw=
3 2] |w, 3. 8393
3 3 3. 5357
4 3] 15.0179]
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128 RS SAITFILIE(EE20R)

TR IR £ o

e ::d——2:=:[1.oooo 0.5179 0.3393 —0.8393 0.4643 —0.0179]"
STHRE B, T A BB R R HES, T IR P EERI SR L d &4, B
[0 0 0 0 0 0 T
0 0. 4107 0.3036 0.1964 —0.3214 0.0893
- 0 0. 3036 0.2679 0.2321 —0.1071 0.1964
P=AA"A) 'A =
0 0.1964 0.2321 0.2679 0.1071 0.3036
0 —0.3214 —0.1071 0.1071 0.6429 0.3214
0 0 0

0. 0893 0.1964 0.3036 0.3214 0.4107]

d=Pd=1[0 1.4821 2.6607 3.8393 3.5357 5.0179]"
3.3.5 FEMli/h gDk

5206 WIS LS Al 38 B 69 n) 81— A, FE LS U8 0 B A B A A
i D =A"A JEA 71,3203, 3. 8) T R /R Il AN A7 AE . B Wi Bk 0 H 45 1 BUAR
KBS, @ B B BUE A R ATRE . EN . @ A AT iy fE S AR 3L (A S5 14 AR
KGO0 w38 B, X T g xX R n) 8, &8 T IE W4k i /N = 7 (Regularized Least
Squares) J5 i AR X 2.6 WIS W IE W LS o — 1k L it i B AR AR R G0 — i
B A B I LS,

FriE & E WL LS 245 755 (3. 3. 6) FH 2 22 FI SRR 19 H A oR 50 38— 300 24 o i i 2%
BOCZR B B d, H Y 2 B e B O U I AR AR B S B L B w2 =
w'w o BRLHCIN T T DU Ak 24 SR8 H b R ECH

2 M—1
Ew) =D, e [P+ | w, |?
i=i k=0

M—1

Y (d) = Djwia =) +alwl?

i—o
=d—Aw)"(d —Aw) +iw"w (3.3.41D)
LA AT BRI S, TR R 22 P 5 S 8] a8 R I VE . SR sk AR
K. 34D wlE, HH
aaw)ZMd—AwY%d—Aw>+am#w

w” w " dw”

=—2A"d F2A"Aw 4 22w
/%\ W=Wgg H#Litjj Oaﬁ?Hf

(A"A +2Dw,s=A"d (3.3.42)
SRAS U U A8 AR B = A IE AR LS gl
w =((A"A A1) 'AYd (3.3.43)

TE DU f5e /I 3R S — JBE P I I B2 1) — S RE 5 Tikhonov 1E WA BEIE (4992 e8P 35
IR —WUE S B N (3L 3. 4D R 22 A e — R R B AU eR B S — TR IE
DAL i 2 SRR ST A AR B L TR AR BT P T T 2 SRR R AR B B YR, fESERR
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-

i 2800 A ARt B
'3.3.6  FETHARLER B I SR IE Ik
B F T Ak TS LS U PEAR 2 — 2Rk U AR L th R AT 220k B R

y(n)ZMleZl'(n*/e) (3.3.44)
AT DA e — 2H 3 e P e S5 ek AR
o (x(n)), i=1,2,-,K (3.3.45)
Ky g S A Z R RAELR MR HE S IR SRR # R AR,
X
x(m) =[xz sxn—1D,yan—M+D]"
wy =[w, swyy s swy ]
FEEWAG T E x GOy M 4em i ACRE & ow g K 4] &5 W sk 50k ¢ B0E A
S5 o R e S R KRR s SCUE A i

K
y) = D w, g (x () =wh W (x(n)) (3.3.46)
k=1
ix B
T(x(n) =[d,(x(m)) g, (x (1)) s+ sp (x(n))]" (3.3.47)

TEPCEERE Fiie LS U8B JE P A 45 an X (3. 3. 46) JHE B BRIX 8] ¢, <n<<i, 5 Fl Nl it
PR ARG T N () s 4 ME LS WU, E S i

e=[e Gpse G+ 1D ,rne G]"

d=[d" G).d" G, +1,=,d" G,)]"

Iy
e=d—A,w,
d" (i) T (x (i)
d G, +1D Ti(x(,+1)
= . — . w, (3.3.48)
d"y) T (x (i)
X B
[ P (xG,)
T(xG,+1)
A, = .
L T (x (i)
i o1 (x () ¢, (x () o (x(G))
_ glzf(x(zf.1+1)) ¢2*(x(i.1+1)) gb;(x(i.]+1)) (3. 3. 49)
L ¢ (x (@) ¢y (x(iy)) o (x ()

HEH, 520033, 60 MM LS MBI F 3 BLBR T 846 BE A, 19 LA (3. 3. 49) i ad



130 MRESHHTFILIE(EE2R)

WSt B BT IS — BB R A, BfE T i TR w, D PRIRZ I SC R SR Y 1)
R — SO o W58 e A AR B i

w, =(AJA,) 'AJd (3.3.50)
HEER S LS MBI M AR R RIAAEBE I A, 0 T LS UM A A5
M x G Je M 4ER) BRI A &G, —4 F 1D XM 4EM B AR A Ao R A
5% x GOIER — I 21 BCE . X T 56 TR R e 5 e By LS U8 &% (R A8 NM-LS) , £
PHFE A, J& G, —i,+ 1D XK 43R FE, RUECE 00 50 50k K, B e ok 8508 B e, HLAR
PEAE I A, 15— JC R T Ed 1 A B W s BT R R, — BRI A, TR T
U] NM-LS F5K fif ]85 4 vk LS 2 —BhY .

B 3.3.2 Wit —ARTEXEvH IR0 LSIERE . FRIEXZeynlerh mAi g
FE R, H B x)=[2)an—1),2n—2]" AT M EMBEZEST AL L LW, &
P E R Aok ]

[ x(n)
x(n—1)
x(n—2)
xF(n)
= ' (n—1)
' (n—2)
z(m)xn—1)
x(m)x(n —2)
lx(n — Daxn —2) |

o1 (x(n))

(x(n))
Ty — |V

g (x (1)

IZ_E ,K:9,éi$1%§i@’§‘ia%
w, = [ww sWy29°"° ,w‘,,.g]'r

Wk B A
K
y(n) =D w, ., (x(n)
k=1

=wy 2 (n) Fwy,xn—1 Fwya0n—2) +w, 2’ (n) +

wysxin —1) +w, 2’ (n—2) + w2 )an —1) +

wygx (ax(n —2) +wyox(n—Da(n —2)
BRAERGFEELRA i,=2,i,=50, 1

d=[d(2),d(3),,dG0)]"

HAEFHE A, A
xz(2) (D (2 (D 2T x(2)x (D) x(2)x(0) x(Dx(0)
x(3) x(2) x (1) 27 (3) 252 2D x(3Dx(2) (3 (1) x(2)x (1)

¢
(500 x(49) 2(48) x*(50) 2(49) 2748 x(50)x(49) x(50)x(48) & (49)x(48)
EEA, R—AAIX9 HELESE T HAJA) " FERIX9 TR E4EE,
AR TR MR AL LSEXRE Wik 5



o #3E iR

y) =w,x(n) +w,x(n — 1) +wyax(n —2)

HBEIHEEA R AIXS K N AA) "W AR ERIXI TG ERE, B0 FE
FH.ERA, FE2—RWHET ALL )P HELLELE DK, HWmiE LT
TRAAME TN, MBEEAREEZRMITEE,

Xt F VR 2 PR ERE R A B ARR R (x (0D B — MR EER NS, RE
T 0L T« AE L R A 35 15 15 BT b B [n) S8 DI AH G . A3 — S i) 1 JE 4R 1 eR B0EE 19 O  , H8
i Volterra 28,1 3. 3. 2 44 HH B IX 4H s EUJE Volterra B A — M F . I4ERK, AAMTH
FH A R B8 1) SEAEURIF 5 Sl 2 M S 30 A T — S R A R B SEART FH TAS A LS HER b
APk ] B, A DA% eR Y Ta) L B 05 W A R S F PG, AT 535 4 OGSk

3.4 FRESHEITE LS O3

AT LS B ATz 1, LS [a) 80 5K ik 3 3 B2 40 B iz B n) A, R X LS i35 2
R AR BT R U  — A TR, O AT 2 R BRI ]  Householder 284t | Givens Jig
B QR 3l FAT S B 5 A NI SR B TR AN A AR S A B B bR A Y 1 T 2 %
A A TR W L B0 Gl HL RS AR RS fE LSRR £ 0 kb, th T A
S (L 2 ik I S AE A A BRI AT 22 5 T Y L T AR DL LS SRS 01 A 49 A S B i ) A
(Singular-Value Decomposition,SVD) ,

fife LS )8, 5C 2 5K

At=A"A) A" (3.4.1D)
ATFRNIERE A BEhY (Pseudo inverse) , MR85, LS 1k 28 R BN G N
wLS:(AHA)ﬂAHd =A"d (3.4.2)

W AT A) B BT A, 2030 4, D E XIS AF7E . LS i 2 ME—RY . 24 AA)
ATEWE R (AT A RT3, 12X (3. 4. D LI AN TELE B LS 152 25 fie /INME 19 fff N 2 i
— M. R AR A (SVD) 2 HL, R SVD 2 B, AN (AYAD J& B Rk, B AT LA
B —A LS g, JF B B E R E M2 RIFRY .

1. SVD EI#

EIE3 4 1(SVD EHE) LR HEHEEAAZNXM 5K, GERANABEEV o U, 1247

0
X E,3 =diagi{o, 0, oy} Lo, =0,= =0y >0, W<min{N.M} (&3 ,U & N X
N 4%,V 2 MXM $%),

ERA . X B2 — A X0 E ], £ e A 2 B oL N >M , AF R # 2 4 s H9 iE 9
A AEF AR,

BT ATA RS ARAG A TR, E A ARME A e Ao dE R 69, d K K B R A HE
51 A 67050y X BE 0,20, =00y S0 Ao oy =0t =0y =0, K0, 0,00, Uy
A5 Zol ARG HIEG T AAELXHERAIBEA 1, B V=[v ,0,,, 0y | EMXMB
B,

W =0
U AV = 0 (3.4.3)
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132 RRES AITFILIE(FE2/R)

0
VIiATAV = (3.4.4)
0 0
4\
V=[v,0,,, 0y} vWH’“"'vM:I:[Vl’sz
BV, =[0,,0,, 0y |, Vo= Vyiy s 0y .V, £ MXW #£%,V, 2 MX(M—W)4E

M, H
ViV, =0
FVesskv Vv, RAX(3.4.4),#F VIA"AV, =37, Bp
STVIATAV ST =1 (3.4.5)
i
VYA"AV, =0 (3.4.6)
Bp
AV, =0 (3.4.7)
/;"\
U, =AV, 3 (3.4.8)
XELU, & NXW 4K, i X (3.4.5)4F
Ul'u, =1

AU, A ME—ABTLEEU.U=[U,.U,], LU'U,=0,. 8k L£ %X, F3

; {U?} {U{IAVl U{‘Avﬂ
U"AV = AV, V,) =
U UJAV, UJAV,
AV, 3" H"AV, 0 > 0
{ Ui, s 0}{0 0}
RE— T2 ELARATX(G.4.5),
T R N<M, AU ZAA" 9 IE 6 4B, 2 B 69, 4 B0, s i Amg
SVD & B UE B 5 R L R B 45 1 T PR BG R RE VORI U e S0, Horp v AT A I FRTE
T ) 5019 R B o T T Ao R R R AR A0 R TR OR AR . R R E S LT L ATA B M OXM AR BE,
M 08 B2 AR R BN AN B — M b T B T B N /N AT A [ RAE 43 i is B i
WA HEZ . RRIU JE AAT BRI ) A R B . S IS F B 2R SEBR AT SVD KA LS 7]
R s — B T SR — AN R (R R AE o3 A9 AN Ao 0 o 1k DS, TR SR AT A B HRTE 20
SVD EH# B n] LIS s .

A—UE) g} VI =USVI = > su, 0" (3.4.9)
Al LLE R, H SVD & B AT DL e SR A fl @ =A"A R W,
2. fhi%%EBE
P 25 SR A A0 it 72 B, G SC— S T — i A £R 30 R B R
S0 LA |
+ H __ o H
A fv( , O)U 7;} Sl (3.4.10)

XFAFAE B LAR R0 0020 3 18, i B R BUAR A G Z5 18 TRANIE W] 78 1~ L
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(D e HERGET N>M, 2 W=M HIA"A) ' 151, B4
AT=A"A) A" =V Oy U (3.4.11D)
EE,FRXPHOOMTHEEWHLRR T X4 0 MR 4E5L.
() TERWIERGE T N<M,#HW=N,HAA") ' 7575 . Dhi 4R
271
AT=A"(AA") 1:‘{ }U” (3.4.12)

(3) FE—RAEM T A A"A B8 AA"Y FIFR/NTF min{ N, MR T, A"A) ! 5™ !
AFELE L

o LA
A=V Ut =v,. 3 'UF = —oul (3.4.13)
{ 0 0} 1 2 o "
FE SCH PRI RS 2 A LS i
-
wLSZV{ }U“d =V,3'vl'd (3.4.10)
0 o0

R/ BN — e AR/ N EYIRE J L — A RIS R BRI
Al Reff R BN
= EIREHN T U =AV = MRARK B 4. 13) F (3. 4. 14) , it — ik

1 0 w 1
A=V U" =V, S7°VIAT =D — o, 0fA" (3.4.15)
0 0 i1 0
il
% U; A (‘U,HAHd)
w, =2, SolAtd =) — "o, (3.4.16)
i=1 0, i=1 0

TER A E NG G0 T LS UE I 25 B B 2 1) 1

w, =) (u;d)AHu, (3.4.17)
HEEXG 4 10OMKG 4. 1D F FESHFMEIr R, 72203, 4. 16 HFEZXF AYA
R IE o i AE R (3. 4. 17) R HFRZENT AA™ HURRIE 50 1 .

LS i) SVD ff# A7 1 B PE 5, X ad B s 1 0 R AN A R AR LA T LU (3. 4. 16) 75

F LS f# A" A TR, LS @S — 9, 2 (3. 4. 16) MR (3. 4. ) FE RIS bR A5 FEAEAE
IR ZMEN T, SVD S BUER EME R L. £ A"A AR T .AA 1A fF
e, 3B A 2D ANA] EAE R RN DL AR 2 A R AR AT LA LS 1R 22 3K B de /D T L BV
A2 e — 11 (B FE T T B8 A b AR i/ ) A R ME — 1), XS SVD i, 7E ATA AT
FREN LT AR AE Z A, BV 220 8 0k 2 3 5000 BBU(E 47 /T LA ok B a5 /N 1 13 22 L {0 AR
{ELRR E VE 0Y £ BE 2% 1 S (8 B /N ) il — 2 B B 11

3.5 B2fF&/INZFE(CTLS)

A% 5N fh B AL B R B /N T3 (Total Least Squares, TLS) B E X, I H — 41 #F
SVD R 50k . & F TLS M4 b R, v 225 3k [258]
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LS kKt Ax=b 09, Hbp&RE— A x i [|Ax—b || * Fe/, 76 LS ik, X
A LABEAR A i b B — )i Ab BTSSR — A B N e B 1 Ab B min{ || Ab ||
flif x WE H RN Ax=b+Ab, XK Ab HSF 3.4 THIIRZE e 7 —FMRE. KX
AR S E— A R B R BUEE A gk AA BEh, Xk TLS A, Al L4k 3
AA FIl Ab 45 5 FE 4

(A+AMA)x =b+ Ab (3.5.1)
A AR (3.5, DA AA FAb TTREG IR L, I, W B — 9 e 4 1
[AA  Ab]
X G5 DAM AL [AA Ab] || F/hiy AA, 1 Ab, B TLS fif x5 W2
(A+ DA Dxps=b -+ Ab, (3.5.2)

IR B R I 7E ARG h H —FhoR TLS W7k, 25 & o — ek 10 07 P 20 19 L X
HAE
AX =B (3.5.3)
BAENXM %R B JENXP %X EMXP ADRMBEHRERE, T4 Ax=0b
EP=1M40, X530 TLS#IE XITF,
EN 3.5 1 TLSHHZL L, RICKRIDOKEDER A, fo AB, 240 T 7 2 X
PR
(A+0 )X s =B+ AB, (3.5.4)
PP AA, Ao AB, AAEX(3.5. ) R, Bih RAEALE Z min{ [| [AALAB] || J e 4, F 4
20(3.5.3)8) TLS ## X s AATST X AL 4ETE A, A= AB, P M s 09 5 #240.(3. 5. 1) 89 i,
FIFH SVD af 43 8] —Fh TLS f# . 350 b 8 i, B N>M+ P4 T4 R LA
Bit4T SVD 5t R h

U"'TA BlVv=3 (3.5.5)
X 2% H B 5 R o B X

U=[U, U,] (3.5.6)
2 0

S = (3.5.7)
{o Ej
‘:Vll vlz}

V= (3.5.8)
VZl VZZ

I B R RE VR s SO 2 R B R BB AT SN, XV, R M XM
M.V, & MXP M.V, J& P XM M.V, & PXP HEK, W8V, 4, TLS N

X5 =—V,V,, (3.5.9)
TR AR X ARfE 7 B AL LS JE W A% 40 G By P=1,V,," HE—"MirsfE, v, &
— AN ),

T2 B (3.5, DIER TLS BIME— A — D HTE SR 1F . LD A 1R B0 46 B BT
XIS M AN FEAEAE N o0 s LALA B8 804 56 [ 04 Fir X6 0 19 5% M+ 1 AR AR R
Capi1+dr om0 ap i s W (3.5, 9 TLS BIME— ., XTRG.5. O ESIRIES
% CHkL290 ],
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3.6 ARENGFP—FFE

AT WO NE IR G ST S0 0 U8 i 25 38 . X S0 25 SR AR W T 52 bR e 1 08 I 2% AT
REIS BN Mg R . Horb AR PR TT e e R il i e A2 4 201 U8 4% . 75 R H] FIR 25 44 i
FH AE 98-8 3 R 5 R 3R R T AEGN IR I 4% 1Y % T FE TIR 2549 i, 75 oK A 2 DR I 2% 1 R 40
PRET ., B UL NETI AT DL 1R 4 44 U8 ik % 1 — D4 1), O B %8 31 /i ) 26 Pk fe O w5
AR HERI B A A5 [5] 09 #8199 7 #2, #R FT LA SR F Levenson-Durbin 33 ¥ 5. v 8 47 P 3 i 5,
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